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ENGINEERING ECONOMICS AND ACCOUNTANCY
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Answer any five questions
All questions carry equal marks

Define-elasticity of demand Descmbe the.various methods of measurmg the elastlcny
of ;;Iemand Fack o i Lo 2ok £k
“th) 4 Explam the basit prmc lp]es and methodology of engmeermg econemrcs [8+7]"=
2.2)  Explain Baumol’s sales maximization theory.

b)  Explain the Marris balanced rate of growth theory of the firm. [7+8]

Explam the methods of mﬂatlon calcula‘uon and descnbe the measurczs to uontrol
mﬂatlon { ; ; .

.........

Explain the new Industrial poltcy of India.
b)  Define Fiscal policy. Explain in detail with recent amendments.

[7+8]

5.a)  What are the various methods of evaluatmg capltal expendrture proposals‘? Write its
nierits and demerifs, ™ A o A A . O NS
) __,.Bream well Co./is qonmdermg two pmjec,ts X & Y w1th ‘cash ﬁows (CF] as show» o
below:"" -
Period CF(X) CF(Y)
0 -60,000 -120,000
1 23,000 70,000
23,000 30,000
23,000 30,000, - I R L
- 23 OOO._ { g 25 Oﬂgp :.‘ ALE w Exd L

-'"Thc opportumty cost of- capital for X is-13%.
11%. Calculate the Payback period, ARR an

analysis which project should be accepted?

[8+7]

The opporrumty cost of caprtal for Y Is"'*
d NPV for each project. Based on your




6.a)

" b)

8.a)

!.-’5'-_ e b)
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Distinguish between profits and cash flows. Why are cash flow important in investment
decisions?

Bullock Gold Misting: - N 0w Ay
/Seth Bullock, the-owner of Bullock, Gold: Mining;-i ]
South Dakota. Dan Dority, the company’s geologist, has juist finished his analysis of the
mine site. He has estimated that the mine would be productive for eight years, after
which the gold would be completely mined. Dan has taken an estimate of the gold
deposits to Alma Garrett, the company’s financial offer. Alma has been asked by Seth
to perform an analysis of the new mine and present her recommendations cn whether

!

L
%

t}}e company should open-the new mine:Alma has__,_.l-{set_;_[.-vthe._ estimates provided by D__;apI P
to.determine the revenue-that coyld be expected from the mine. She.has also projeted | -

‘the experises of openirig-the mine and ‘the’ annual operating expenses.' [P the company®
opens the mine, it will cost $750 million today, and it will have a cash outflow of $75
million nine years from today in costs associated with closing the mine and reclaiming
the area surrounding it. The expected cash flow each year from the mine are shown in
the following table. Bullock Mining has a 12% required return on all of its gold mines.

— s -Year . | Cash Flow —\ ..... A,
LA 5 N[ ZYsmeo00000 7 0 AT A
Ve S AN /30600000 N}4  / Nnod v SRR
2 180,000,000
3 190,000,000
4 245,000,000
5 205,000,000
o kb .| 155,000,000 , ...
______ ANEEA /4 135,000,000 7] A NI
/oAN8T 7 195,080,000/ LA /TN
9 -75,000,000

i) Calculate PBP, IRR, NPV and PI value of the proposed mine.,

i) Based on your analysis, should the company open the mine? [7+8]

R i

I,ﬂ"l{sgr‘atq"';he EBIf-EES arialysis w;th su1table exat}qpl‘e g X r
Thé, more debt the “firm issues, Ahe higher the intérest. raté it must pay. That is/og, ~.
important reason why companies should operate at conservative debt levels. Critically

evaluate this statement. [8+7]

Explain the following:
i) Profit Volume Ratio ii) Break Even Point iif) Margin of Safety

Explaifi the folImy"ipgl;-"'i)'“;lournal if), TgEaT'Balance.f_.--“-\ [9+6]
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